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BllgEih X 6,706 15,480 7,747 7,733
IR X 1,494 3,726 1,827 1,899
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HLwn 229 428 231 197 THTFE 108 227 115 112
HHET 123 292 144 148 THTERE1 179 441 216 225
T ET 240 402 260 142 RUET & 260 590 298 292
BT 318 647 346 301 FRET T 233 495 247 248
KETER 124 261 134 127 =i 235 651 328 323
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THRRX 4 314 ™ THRXA | #HEHK e 5 =
Flg 130 335 165 170 TER 50 135 69 66
+H 193 491 237 254 wAE 138 328 190 138
b= 135 403 192 211 KiIF 83 221 112 109

X 729 1913 965 948

IR

- 5 B . I =

THX 4 # rrem THX4 | tHHH prem 5 =
TR 123 310 162 148 P RRE 93 243 136 107
AR 61 160 74 86 ERFEER 59 165 83 82
I 42 112 56 56 TR 50 144 70 74
THIE 82 222 114 108 LR 87 239 124 115
LR 128 305 165 140 EE 72 216, 104 112
Al Ffr 47 117 59 58 4|4 283 731 372 359
THIRE 115 314 167 147 Hh X & 1242 3278 1686 1592
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EE3 107 285 139 146 'S 305 652 320 332
RIUAT 136 358 176 182 (k& 210 447 220 227
£ ER/THTHE 151 396 204 192 EE& 96 234 126 108
%IEE 349 856, 420 436 kv P! 289 592 296, 296
BEF0 334 735 379 356, hiEE 209 437 212 225
INBERT 153 378 200 178 ERTE 80 186 93 93
INBER2 110 236 11 125 {EE1 206, 428 227 201
EL=E 358 816 396, 420 kB2 416 902 453 449
MhE2 511 1242 628 614 k83 391 792 404 388
A1 119 306 144 162 {EEm 245 528 263 265
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INE 389 934 445 489 FE 47 128 59 69
TE L 396 983 487 496 MF 105 258 129 129
4R 14 46 21 25 EE 274 677 334 343
FIZEN 80| 198 104 94 bR 4 120 59 61
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FEEN 44 109 55 54 X & 1494 3726 1827 1899
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£ 100 259 134 125 ARRIEFTH 74 179 91 88
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11 194 455 217 238 INE4 541 1298 619 679
K2 225 550 258 292 INES 0 0 0 0
F1U3 137 343 176 167 TE1 175 477 245 232
FlL4 384 1121 502 619 TH2 222 601 296, 305
KI5 271 721 357, 364 T&3 130 324 179 145
KIL6 219 587 304 283 E&4 238 711 345 366
FL7 207 566 271 295 TE5 187 489 229 260,
R8s 270 707 355 352 FiRE1 184 507 268 239
FAZE 420 1009 487 522 hiR&2 195 580) 299 281
HAZE2 130 438 215 223 HFiRE3 70 186 93 93
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il 136 313 167 146 Ha 4 1 376 1051 538 513
M E2 110 312 154 158 WA 2 350 890 429 461
e L3 163 447 228 219 Wy 3 224 681 338 343
R R4 230 691 343 348 W4 221 493 288 205
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/N6 171 558 270 288
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